Decimals and Percentages Check Up 

Q1.
Calculate (i) perimeter and (ii) area of the rectangle below (give your answer in metres):
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Q2.
Use a calculator to change 
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1. Tins of paint come in three different sizes — 10 litres. 5 litres and 2.5 litres.

(a) Copy and complete the table below to find the cost of each of these tins
per litre.

Size of tin Cost | Cost per litre
10 litres £21.50
5 litres £12.50
2.5 litres £6.50

(b) Which size of tin gives best value for money?

(c) Stephen needs 15 litres of paint to paint his bedroom. Should he buy
a 10 litre and a 5 litre tin or three 5 litre tins?

2. Milk can be bought in 1 litre cartons or 2 litre bottles, as shown below.

t B

Cost = 67 pence Cost=£1.40



to a (i) decimal then (ii) percentage

Q3.
Express 36 minutes as a:

(a) fraction of an hour, in its simplest form (b) decimal fraction (c) percentage of an hour
Q4. Out of 260 pupils, 65% are boys.

(a) How many boys are there?
(b) How many girls are there?
Q5.
A school trip 50 children were asked to select a drink for their packed lunch.  The drinks order was as follows:

	Irn Bru
	20

	Coke
	15

	7UP
	7

	Apple Juice
	6

	Water
	2


Q6.  In 2009 iphones originally cost £300.  This year, Orange are selling them for 40% less.  What price are they being sold for?
Q7. Train fares from Lenzie to Glasgow have increased this year from £4.00 to £4.60.

(a) Calculate how much the train fares have increased.

(b) Calculate the percentage increase 
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Calculate the percentage of each  of children who had each drink


Calculate the percentage of children who didn’t have a fizzy drink? (Hint - Express the total number of children who didn’t have a fizzy drink as a fraction of the total drinks first)








_1345316810.unknown

